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Estimating Multiplication of Fractions

Name:

Deter mine the answer using estimation.

Answers

/When multiplying a
fraction and awhole
number you can
estimate the answer
by remembering that
the fraction isjust part

5><62/3:

In the example above, 6 2/3 IS
larger than 6 but lessthan 7.
So we know the answer is going
to be between5x 6and 5 x 7.

5x 67,=33 7,
The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

N

of anumber. 3
\_ /
4 2 4 2 4 4.
1) 9/10)(3: A 28/10 25/10 C. 34/10 32/10
5.
4 4 3 3 4
2 3x7 /9= A. 17 /4 28 /4 C. 227 28 /4 6.
7.
1 1 1 1 1
3 7x3 /p= A. 177, 31/, C 187/, 24/,
8.
9.
5 3 3 3 3
D 7x2%= A. 1874 247  C. 117 2874
10.
5 gx3¥% - A. 28 21 C. 20 34 11,
12.
4 4 4 4 4
% 4x4 /6= A. 14 /4 12 /g C. 18 /4 22 /s
4 2 2 2 2
D gx4a¥,= A. 3774 427  C. 487 4376
1 1 1 1 1
8) 4/2X7= A 38/2 37/2 C. 21/2 31/2
6 6 6 6 6
9 5x5%-= A. 21 /4 28/ C. 33/ 23 /g
1 1 1 1 1
10 45 3= A. 16 /5 21/3 C. 2675 28 /3
1-10 | 9283 75|67 [58[50] 4233|2517 |
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Ve N
/ When multiplying a > \
fraction and awhole 5x67;= . _ A

number you can
estimate the answer
by remembering that
the fraction isjust part

of anumber.
L

In the example above, 6 2/3 IS
larger than 6 but lessthan 7.
So we know the answer is going
to be between5x 6and 5 x 7.

The actual answer is 33 1/3 whichis 2,
between 5 x 6 (30) and 5 x 7 (35).

5x 67,=33 7,

/

C
D
A
4 2 4 2 4 4,
1) 9/10)(3: A 28/10 25/10 C. 34/10 32/10
5. A
4 4 3 3 4
2 3x7Y,= A. 177, 287, C. 227, 287, 6. _ C
7 A
1 1 1 1 1
3 7x3 /p= A. 177, 31/, C 187/, 24/, D
8.
oo B
0. B
5 gx3¥% - A. 28 21 C. 20 34 1 A
1. B
4 4 4 4 4
% 4x4 /6= A. 14 /4 12 /g C. 18 /4 22 /s
4 2 2 2 2
) gx4 /5= A. 377 427s  C. 4874 437
1 1 1 1 1
8) 4/2X7= A 38/2 37/2 C. 21/2 31/2
1 1 1 1 1
10 45 3= A. 16 /5 21/3 C. 2675 28 /3
1-10 | 9283 75|67 [58[50] 4233|2517 |
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